ITI Computer Operator and Programming Assistant (Java) 1st
Year Module 4 DOS Command Line Interface & Linux
Operating Systems

(1). OSS stands for_____. | Wﬁﬂ'&ﬁﬂ%’

(A) Open System Service | . faferafeyman

(B) Open Source Software | fafer aroon

(C) Open System Software | ﬁfirshwrrqatrﬁmm
(D) Open Synchronized Software | fafersram

Correct Answer : B

(2). Which Linux command is used to sort the text file ‘network’ in descending order? | foa
forToRT PHIS BT IUUNT UTS BTSH in Acdd ‘Pl 3a1g! v H Tic H31 & fore frar
IGLEGEH

(A) Sort /r network
(B) Sort - r network
(C) Sort +r network
(D) Sort\ r network

Correct Answer : B

(3). How the directories under the root directory are called? | ET-I'I}I@ P 91 AT B gRT
FATH A B 3AYE B BT el a¥IPT 82

(A) dir | Class B + class A {}

(B) path | Class B inherits class A {}

(C) sub directories | Class B extends A {}
(D) tree | Class B extends class A {}

Correct Answer : C



(4). Which of the following is not open source software? | ﬁﬁ@faﬁqw GI'H?f:Iﬁ%’?

(A) Open Office | Thread

(B) Windows 10 | AbstractList
(C) Linux | List

(D) Ubuntu | Abstract method

Correct Answer : B

(5). FSF stands for . |Wﬁﬁ%%aﬁﬁﬁmﬁrﬁaﬁﬁaﬁqwmﬁwév
(A) File Server First | WWH%W%WWWWWW%
(B) Free Software File | ﬁuﬁaqgauaﬁm mmaﬁ?%ﬁﬁ:ﬁﬂ%ww
vga P e

(C) Free Software Foundation | Udrell @1 ST T IR gl HIFT I el

(D) First Software First | WW”W?&H& aﬁ'\rm&mmwﬁz

Correct Answer : C

(6). Which one of the following is the wildcard character? | T Iwd faftr sffarsfET
wrarH @t fafty & wrg el 3|

(A) *and/ | superclass

(B) ? and/ | subclass

(C) *and ? | superclass or subclass
(D) ?and @ | error occur

Correct Answer : C

(7). Which DOS command is used to list all com files in D drive? | D Wﬁﬂmﬁ U"Tlg?h
DI YEdg B & 1T fd pos HHIS BT IUANT favar wrar 82

(A) DIRD:\com

(B) DIRD:\ com.*



(C) DIRD:\ *.com
(D) DIRD:\ *com *

Correct Answer : C

(8). A software, coding of which is available freely on internet and is open for user for further

use is called N EET&T\‘TTI'UHT { void cal(int item); } class display implements calculate {
int x; public void cal(int item) { x = item * item; } } class Main { public static void main(String
args[]) { display arr = new display(); arr.x = 0; arr.cal(2); System.out.print(arr.x); } }

(A) unlicensed software | 0
(B) open source software | 2
(C) free software | 4

(D) community software | mﬁiﬁg ‘l-ﬁ:l'&ﬂ

Correct Answer : B

(9). Which filename will matches the command. DIR????T.TxT in DOS? | dg

Fias ¢ foraer Iua farsdt avf & Tun & v H34 & e fear s 21
(A) TIME.TXT | Inherit

(B) TEXT.TXT | Poly

(C) TEMP.TXT | Extends

(D) TEMPT . TxT | Super

Correct Answer : D

(10). The first option of KDE desktop is in Linux N ﬁﬁﬁm’aﬁfﬁ amgfaﬁaé
M 82

(A) preference | Javlang
(B) application | Javutil
(C) system | Javio

(D) system setting | Javsystem



Correct Answer : B

(11). Which DOS command is used to delete a directory? | Eﬁﬁﬁﬁﬂﬂﬂéﬁﬁ%
fore Iy 18 foran o g ar ot sifaw aifta #= fear man 82

(A) RD | Abstract

(B) REMOVE | Extends

(C) DEL | Abstract and extends
(D) DELETE | Inherit

Correct Answer : A

(12). Which of the following is an advantage of open source software? | ﬁ'ﬂﬁ@’dﬁ@iﬁ?

T 3N T AT AR BT ATH 872

(A) You can edit the source code to customize it | mgﬁmwﬁ% %’Q’Wﬁg
D! Ufee H TP &

(B) You need to be an expert to edit code | aﬁsaﬁqﬁmﬁ%ﬁq arrqaﬁwwq-é
TN DI ATIIHAT &

(C) You have to pay | EF%&HWT@"TT

(D) Can sometimes be too generic for specialist purpose | @Wa%(m%ﬁrqmmﬁ-
F 9ga I B IFar 8

Correct Answer : A

(13). Which character is used to represent a range of values in Linux? | AYS Gﬁmma?

a1y :ﬂ%ﬁt{ RILACICI] TIITH &1 ST3cYc AT %? class Sparrow{ } class BigSparrow extends
Sparrow { } class Cat2 { Sparrow jumpingHeight(int weight) { System.out.printin(40); return
new Sparrow(); } } class WildCat2 extends Cat2 { BigSparrow jumpingHeight(int weight) {
System.out.printin(”50"); return new BigSparrow(); } } public class MethodOverriding4 {
public static void main(String[] args) { WildCat2 wc = new WildCat2(); wc.jumpingHeight(80); }

}
(A) () 140

(B) [1150



(C) {}180

(D) <> | Compiler error

Correct Answer : B

(14). Which character is used to redirect output in to an existing file in Linux? |

&1 39 uforan & U B ufeufa fasan s aar 8 5igi U vl gue & T (a8 3R
&) UTed BT B |

(A) > | Overriding
(B) >> | Inheritance
(C) < | Polymorphism
(D) << | Abstraction

Correct Answer : A

(15). Identify the command which is used to remove files. | W%W amﬁaﬁaﬁﬁﬂwrﬁ
forem ot ergm 9t st Y aRuTRa At wrar g al s & U H ST STe|

(A) delete | abstract
(B) rm | asimple class
(C) dm | static class
(D) erase | sub class

Correct Answer : B



